TRIGONOMETRIC EQUATION - EXERCISE

The number of solutions of the equation
tan’x — sec® + 1 = 0 in 0, 13)is :-

(1) 0 (2)4
(3) 13 @46
The general solution of the equation
1-sinx+sin®x—.... 1-cos2x

K ) = 1S :-
l+sinx+sin”“x+.... 1+cos2x

(1) nn + (-1)" n/6, 2nn — n/2
(2) nn - (-1)" n/6, 2nn + /2
) nn + (-1)" n/6

@) 2nm - /2

IfO0<A<n/2and

SinA + cosA + tanA + cotA + secA + cosecA = 7
and sinA and cosA are roots of equation

4x? - 3x + a = 0. Then value of 25a is :-

(1) 28 (2) 30 (3) 26 4) 32
The set of values of ' for which equation
sin®x + cos*x = A has a solution, is:-

(1) 0, 1) (2) [% 1}
3
@1, 1 @13
No. of sol" of eq” cos*®x — sin*x = 1 is, if
xel-m, ) :-
(1) 2 (2)3 3)1 @) 4

The total number of solution of

sin?x + cos’x = sinx cosx in [0, 2n] is equal to:-
(1) 2 24

(3)6 (4) none of these

X
The number of solutions of sinx = 0 are :-

(13 2 5 37 (4) none
The sum of the solutions in x e (0,4n) of the

: X[ L [m+x)) ., [(2m+X
equation 4sin— sm( sin j:1
3 3 3

is-

(1) 67 (2) 4n

(3) 3n (4) None of these

Let f(x) = max {tan x, cot x}. Then number of roots

1
of the equation f(x) = E in (0, 2n) is :-

(4) infinite

10.

11.

12.

13.

14.

15.

16.

17.

The number of solutions of the equation
lcosx—sinx | =2cosxin[0, 2n] is :-

1)1 22 33 4)4

The number of real solutions of the equation
cos®x + sin® x = 1 in the interval [0, 2n] is

1) 2 21

3 3 (4) infinite

Number of real roots of the equation

sec © + cosec §=+/15 lying between 0 and is
(1) 0 (2) 2 34 (4)8

T
The number of values of 8 in the interval (_E’Ej

satisfying the equation (\/5 )m " —tan®0+2tan’ 0
is :-

(14 (2) 2

(3)1 (4) none of these

If tan 0—cot 0+ 2tan 20 + 4 tan 40 + 8 cot 80 =sin 0,
then 0 =

(1) nn 2 (2n+ l)g

s
3) nm+ (1) s

For n e Z, the general solution of the equation

(\/5—1) sind + (\/g + 1) cosd = 2 is :-

(4) none of these

(1) 9:2nni§+1

12
@) O:nn+(—1)“§+%
3) 9:2nnig—%

(@ 9:n1t+(—1)“§—%

The number of values of x in the interval [0, 5n]
satisfying the equation 3sin®x — 7sinx + 2 = 0 is
1) 0 2) 5

3) 6 @) 10

The solution of the equation cos?0 + sin® + 1 =0

lies in the interval
n 3m
2) | —, —
(2) ( 12 j

T
(1) (—5, Zj

3n Sm St Trm
o33 eFF
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18. The solution set of the equation 25. General solution of the equation
g)n (:) tanx) = cot{r cot ) 1(52) 0l 343 sin3 x + cos3x + 34/3 sinxcosx = 1is-
TC] —1\n E L nﬁ _ E
3) {Z ( (4) none of these (1) s 1) 6’rlEI \2) i = -1} 3 6
19. If 815"°x £ 81<*x =30 | Then No. of solution is (3) nm + (4)“%—% (4) None of these
equal to where x e {O,E} 26. The most general values of x for which
sin X + cos x = Min {1,a% - 4a + 6} are given by-
(1) 2 (2) 4 (3) 8 (4) 6
1 r
20. One root of the equation cosx — x + 5= 0 lies in (1) 2nn (2) 2nm + 2
the interval :- T
(3) nm + (-1)™. 11 (4) All of above
0 b4 T 0 b 3n
M%7 @737 6| 3™) @ ™5 ] |27. §0<x<3n 0<y<3nandcosx.siny=1then
21. The number of roots of the equation g:ey)?;)_s&ble number of values of the ordered pair
T . . (o6 (2)12 (3)8 (4) 15
X+ 2 tanflf = 2 in the intervaREE G 28. Let0 € [0, 4n] satisfy the equation
11 2) 2 3)3 (4) infinite (sin © + 2) (sin 6 + 3) (sin 6 + 4) = 6. If the sum of all
the values of 0 is of the form kr, then the value of
22. If x = — and (cosx)"™ X2 _ 1 then all kis
2 (o6 (2) 5 34 (4)2
solutions of x is/are given by - 29. The variable x satisfying the equation
(1) 2nn + g 2) (2n + I)n - g ]sinxcosx|+\/2+tar12x+cot2x -3
belongs to the interval:-
T
(3) 2nm + 1) — (4) None of these
2 1|03 253
23. Find the number of solutions for
. ) ) T 3n
sin 56 cos 36 = sin 96. cos 76 in [05} (3) {T j (4) non existent
(13 (2)5 (3)9 (4)10 30. The general solution of the equation
24. Solution set of '0' for which sin® + /3 cos0 > 1, sin1%x — cosl = 1 is:-
-nt<0<n
1 (_E E) , [_E E} (1)2rm+%,nel (2)nn+%,nel
ml-¢ ¢ @23
Y Y
& T T n B)nt+—,nel @) 2nm-—-,nel
(3)[ 3’3} (4)( 6’2J 9 3
Que. 1 2 3 4 6 7 8 €) 10
Ans. 3 1 2 1 3 3 3 2
Que. 11 12 13 14 15 16 17 18 19 20
Ans. 3 2 1 3 4 1 1 1
Que. 21 22 23 24 25 26 27 28 29 30
Ans. 3 4 3 2 4 1 2 4 2




